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Recall the natural logarithm.
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The base of the natural logarithm is called e.

In(x) =log, (x)

Whatise ?
e is an irrational number.

An excellent approximation is

e=2.718281828459045235360287471352662497757247093. ..
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How do we find the value of e?
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A better approximation...
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Recall: Converting between bases:
Ifa,b.x>0anda,b+], then
log, ()

L log, (x)= 0]

Observation: Thereis a constant & so that

What is & ? (o
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Recall:

Observation:

Converting between bases:
Fabx>0anda b1, then
log, (x)
log, ()

log, (x) =

Supposea >0and a = 1.
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Use a slope chart todetermine theshape of the graph
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QQuestion: Suppose [ (x) =In (x) Is this function

invertible, and if so, what is /™ (x)?
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Discuss domain, range and graphs for both /' and f .
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e=2.718281828459045235360287471352662497757247093. ..
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2+ What about the derivative of exp(x)?
Notation: exp(x) is the inverse of In(x) J
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Consequences:
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